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QUESTION 1

Consider the following diagram: 

What does the diagram express about the structure of the Underwriting Application? 

A. The Underwriting Application groups together a number of modules that are either free- standing or part of other
applications 

B. The Underwriting Application is composed of three application components 

C. The Underwriting Application invokes three other modules 

D. The Underwriting Application performs three functions 

Correct Answer: B 

 

QUESTION 2

Consider the following diagram: 

What does the diagram express about the relationship between the three processes? 

A. Take in Claim passes information to Gather Claim Information, and Gather Claim Information passes information to
Adjudicate Claim 

B. Take in Claim triggers Gather Claim Information, and Gather Claim Information triggers Adjudicate Claim 

C. Take in Claim is used by Gather Claim Information, and Gather Claim Information is used by Adjudicate Claim 

D. The three processes may execute in parallel, although they don\\'t have to 

Correct Answer: B 
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QUESTION 3

Consider the following diagram: Which of the following best describes what this diagram represents? 

A. A work package that realizes a deliverable 

B. A business process that realizes a representation 

C. A work package that realizes a gap 

D. A plateau that realizes a gap 

Correct Answer: A 

 

QUESTION 4

The following diagram shows an example of the use of the Migration viewpoint: 
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Which of the following best describes a reason for using this viewpoint? 

A. To model the management of architecture change 

B. To help determine the priorities of implementation projects 

C. To relate programs and projects to the parts of the architecture that they implement 

D. To help in planning the transition from the current architecture to a desired future architecture 

Correct Answer: D 

 

QUESTION 5

Consider the following diagram: 

Which of the following best describes what this diagram represents? 

A. A node with two system software environments. One performs Application Monitoring, the other Network Monitoring 

B. A node that performs two functions: Application Monitoring and Network Monitoring 

C. A node that processes two types of data, pertaining respectively to Application Monitoring and Network Monitoring 
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D. A node with application components. One performs Application Monitoring, the other Network Monitoring 

Correct Answer: B 
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